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ВАРИАНТ 4
Переведите текст письменно на русский язык
TIMOTHY
Timothy is winterhardy across Canada, except for the open prairies, and does well on moist or acid soils and on poorly-drained, peaty, and meadow areas. The best seed yields, however, are obtained on well-drained clay or clay loam soils and with high rates of applied nitrogen. The crop tolerates flooding much better than many other forage species, but is not adapted to saline conditions.
Seeding. Early spring seedings are best, but good stands can be established as late as early September. Later autumn seedings give lower seed yields in the first crop year. Very good weed control is obtained with seedings in rows 12 or 14 inches apart, and sown at one to one and a half pounds per acre. Spacings of 30 to 36 inches are used where summer droughts may occur. Seed at a depth of one-quarter to one-half inch. If the seedbed is loose, broadcast and follow with a press wheel or packer.
Fertilizer. A farmer should apply nitrogen late in the autumn or as early in the spring as possible. He should work in 50 pounds per acre of nitrogen at seeding time unless the crop is sown on summer fallow. Subsequent seed crops will require about 100 pounds of nitrogen per acre per year.
Seed yields of timothy have been reduced by a type of damage known as silvertop. The damage appears as silvery white heads scattered among the normal green heads. The head has no seed and the seed stock is dead above the last node. Control is by removing harvest debris, burning stubble and properly timed insecticides.
The usual harvest date is from early to mid-August but some varieties are later than others. Swath when most of the heads are brown, or straight combine when the tips of the heads show signs of shattering.
I. Подчеркните в каждом предложении глагол – сказуемое и определите видо-временную форму и залог. Переведите предложения на русский язык. В разделе (б) обратите внимание на перевод пассивных конструкций.
    а). 1. Every species has received separate treatment.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
         2. They are working in the fields now.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
   б).  1. Crop adaption will be discussed.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          2. More stands are lost by deep seeding.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
II. Подчеркните Participle I и Participle II и установите функцию каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
         1. An ordinary grain drill is often used for seeding.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          2. Insect-pollinated crops usually require careful pollinating management.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          3. Low-growing  crops need a smooth seedbed at harvest time.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          4. When burning stubble you control weeds.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
III. Подчеркните в каждом предложении модальный глагол или его эквивалент. Переведите предложения на русский язык.
       1. A farmer can seed at a depth of one-quarter.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
        2. You should be careful when applying this fertilizer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
        3. You must do everything according to the plan.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
        4. Farmers may reduce the cylinder speed.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
IV. Выпишите из текста эквиваленты к словам и словосочетаниям:
        пашня ________________________________________________________
        угроза ________________________________________________________
        удалять растительные остатки ____________________________________
        колос _________________________________________________________

